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SECTION A

Answer all questions.

1 Why does scarcity exist?

A

Cc

D

Each year workers tend to produce less than previously.
Machines wear out with time.
There are insufficient resources to meet all people’s wants.

There is a limit to people’s wants.

2  Which factor of production does a factory building represent?

A

Cc

D

capital
enterprise
labour

land

3 A person decides to go to study at the university for 4 years. If he had not
gone, he could have taken up a job which would have paid him E6 000 a month.

What is his opportunity cost of going to the university?

A

E6 000

E24 000

E72 000

E288 000
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4  The diagram shows a country’s production possibility curve.

—_

45

Agricultural 30
goods

0 90 120 150
Manufactured goods

Calculate the opportunity cost of increasing the output of agricultural goods from 30 to 45.
A 15 Agricultural goods
B 30 manufactured goods

C 45 Agricultural goods

D 90 manufactured goods [1]

5 What is the likely effect on resources and wants as an economy becomes more

developed?
Resources Wants
A decrease decrease
B decrease increase
C increase decrease
D increase increase

[1]

6 What is meant by economic growth?
A anincrease in exports

B anincrease in population

C anincrease in productivity

D anincrease in real gross domestic product [1]
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7 What is most likely to be found in a developing country?
A a high level of education

a high level of spending on entertainment

B
C asmall average family size
D

a small percentage of very old people [1]

8 The price of a product rises from E60 to E90. This causes demand to contract
from 800 to 600.

What type of price elasticity of demand does this product have?
A perfectly inelastic
B relatively elastic

C relatively inelastic

D unitary elastic [1]

9  Which group is most likely to benefit when there is an increase in inflation?
A Dborrowers

consumers

B
C lenders
D

savers (1]

10 What is the definition of a tariff?
A tax on expenditure

tax on goods and services

B
C taxonimports
D

tax on income (1]
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SECTION B
Answer all questions.
1 Define the terms, giving an example in each case.
(i) direct tax
..................................................................................................................................... 2]
(ii) regressive tax
..................................................................................................................................... 2]
2 Explain the effect of imposing tax on books, using a demand and supply diagram.
............................................................................................................................................ [5]
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6

Discuss any two reasons that could make clothing have price-elastic demand.

..................................................................................................................................... (4]
Explain any two features of a private limited company.
) PSSR
(1) oot e e e e e e e e e e e ——————eaeeaeea—————eeaeeeeeaa———arreeeeeeaaananranaaaaaaas
..................................................................................................................................... (4]

Identify the type of unemployment that is defined by the statements (i)—(iii);

(i) Arises when workers do not accept the first job offered but spend time looking around for

jobs.
..................................................................................................................................... [1]
(if) Arises from workers being made redundant due to introduction of technology.
..................................................................................................................................... [1]
(iii) Arises from lack of aggregate demand.
..................................................................................................................................... [1]
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6 State any three factors that affect population growth.

7 Calculate the price elasticity of supply, indicating the type of elasticity when the price increases
from E4 to E5 and supply of a product increases from 5000 to 7000.

Calculation

............................................................................................................................................ [4]
8 State any three reasons for integration between firms.

() RSO PP RS PPP PRSP

) SRS

L SRR [3]
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SECTION C
Answer all questions.
1  Multinational Companies
Hobbs plc is a UK-owned multinational company producing dishwashers with subsidiaries in
Cowland and Beeland. The Cowland factory produces components which are then exported
to the Beeland factory for the production of the final product. Half of the profits made by each
of the subsidiaries are remitted to the UK head office. Hobbs management has discovered

that there is a potential new market for their dishwashers in Deeland, a developed country.

Table 1 shows the profits of each of the subsidiaries and the exchange rate to the UKE.

Table 1
Company Cowland Beeland
Year 1 Profits in local currency (millions) c18 B28
Year 1 exchange rate £1 = C20 B35
Year 2 exchange rate £1 = C15 B32

Note: The UK currency is known as the Pound sterling (£), Cowland’s currency is known as
Combas (C) and Beeland’s currency is known as the Beurries (B).

(a) Identify the type of exchange rate that is illustrated in the case. Support your answer.
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(c) Calculate the year 1 profit received from each of the subsidiaries by the UK head office
in pounds sterling. (show your working)

(i) From Cowland
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(d) Do you think it will be beneficial for Beeland if the Beurries depreciated? Discuss.
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Kitchen Masters

Mac and Kat are brothers who jointly own a business called Kitchen Masters. The business fits
luxurious kitchens in the upmarket part of Mbabane area. The business uses quality materials
and all kitchens are handmade and fitted. Recently, the company has been concerned about
the level of efficiency and has decided to look at the costs and revenue of making its fitted

kitchen. In the previous year, fixed costs were E91 000 and total variable costs were E17 000.
The kitchen produced and sold 2 units per month and each unit was sold at E20 000.

(@) What type of business organisation is Kitchen Masters? Support your answer.

..................................................................................................................................... [2]
(b) Define fixed costs, giving an example of a fixed cost that Kitchen Masters may incur.

..................................................................................................................................... [3]
(c) Calculate the average cost of producing one kitchen unit at Kitchen Masters.

(show your working)

..................................................................................................................................... [3]
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(d) Advise the owners of Kitchen Masters on three ways in which they may maximise their
profits. Support your advice.
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